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2P + 1 = 510510m + 319037
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oboobooooliboooboboooooboboooboooboobooboboooobOoobOoo
good

Q=414853 0000
P = 5105100 + 414853
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=4148590000
P =510510n + 414859

2P + 1 = 2(510510n + 414859) + 1 = 10210201 + 829718 + 1 = 10210201 + 829719
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829719 =3 x 3 x 11 x 17 x17x29 x 1

oooo
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P = 510510n + 414871
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P = 510510n + 414881

2P + 1 = 2(510510n + 414881) + 1 = 10210201 + 829762 + 1 = 10210200 + 829763
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oooo
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Q=414803 0000
P = 510510 + 414893

2P + 1 =2(510510n + 414893) + 1 = 1021020n + 829786 + 1 = 1021020n + 829787
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2P + 1 = 119(8580n + 6973)
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2P + 1 =2(510510n + 414901) 4+ 1 = 10210201 + 829802 + 1 = 10210201 + 829803

0000010210200 20 2003,5,7,11,13,17000000 10000000
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good
2P + 1 = 39(26180n + 21277)

gooooooboOo3oooooooboboooUooUoooDOobDUooDUobDobobooOooog
goog

Q=4149070000
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P = 510510n + 414917
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 = 510510m + 319337
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2P + 1 =2(510510n + 414929) + 1 = 10210201 + 829858 + 1 = 1021020n + 829859
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Q=4149430000
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2P + 1 = 2(510510n + 416219) + 1 = 10210201 + 832438 + 1 = 10210201 + 832439
0000010210200 20 2003,5,7,11,13,17000000 10000000

832439 = 17 x 23 x 2129 x 1
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2P + 1 = 2(510510n + 416231) 4+ 1 = 10210201 + 832462 + 1 = 10210201 + 832463
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832467 = 3 x 61 x 4549 x 1
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Q=4162370000
P = 510510n + 416237

2P + 1 = 2(510510n + 416237) + 1 = 10210201 + 832474 + 1 = 10210200 + 832475
0000010210200 20 2003,5,7,11,13,17000000 10000000
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oooo
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Q=4162390000
P =510510n + 416239

2P +1 = 2(510510n + 416239) + 1 = 1021020n + 832478 + 1 = 1021020n + 832479
0000010210200 20 2003,5,7,11,13,17000000 10000000

832479 = 3 x 277493 x 1
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Q=4162430000
P =510510n + 416243

2P + 1 =2(510510n + 416243) + 1 = 10210201 + 832486 + 1 = 1021020n + 832487
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Q=4162490000
P = 510510n + 416249

2P + 1 = 2(510510n + 416249) 4+ 1 = 10210201 + 832498 + 1 = 10210201 + 832499
0000010210200 20 2003,5,7,11,13,17000000 1000000

832499 = 832499 x 1
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Q=4162570000
P =510510n + 416257

2P + 1 = 2(510510n + 416257) + 1 = 10210201 + 832514 + 1 = 10210201 + 832515
0000010210200 20 2003,5,7,11,13,17000000 10000000

832515 =3 x 5 x 55501 x 1
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2P + 1 = 15(68068n + 55501)
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Q=4162610000
P = 510510n + 416261

2P + 1 = 2(510510n + 416261) 4+ 1 = 10210201 + 832522 + 1 = 10210201 + 832523
0000010210200 20 2003,5,7,11,13,17000000 1000000
832523 = 19 x 43 x 1019 x 1
0000 10210200000000000000

2P 4+ 1 =510510m + 322013
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Q=4162630000
P = 5105100 + 416263

2P 4+ 1 =2(510510n + 416263) + 1 = 10210201 + 832526 + 1 = 1021020n + 832527
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Q=4162670000
P = 510510n + 416267

2P + 1 = 2(510510n + 416267) + 1 = 10210201 + 832534 + 1 = 10210201 + 832535
0000010210200 20 2003,5,7,11,13,17000000 10000000

832535 =5 x 11 x 15137 x 1
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2P + 1 = 55(18564n + 15137)
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Q=416281 0000
P =510510n + 416281

2P + 1 =2(510510n + 416281) + 1 = 10210201 + 832562 + 1 = 10210201 + 832563
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

832563 = 3 x 3 x 92507 x 1

oooo
2P + 1 = 3(340340n + 277521)
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Q=4162870000
P = 510510n + 416287

2P 4+ 1 =2(510510n + 416287) + 1 = 1021020n + 832574 + 1 = 1021020n + 832575
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2P + 1 = 255(4004n + 3265)
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Q=416291 0000
P =510510n + 416291

2P + 1 = 2(510510n + 416291) 4+ 1 = 10210201 + 832582 + 1 = 10210201 + 832583
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832583 = 832583 x 1
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2P +1 = 510510m + 322073

oooboobooobooboboobboobboobooobooo

Q=416293 0000
P =510510n + 416293

2P + 1 = 2(510510n + 416293) + 1 = 10210201 + 832586 + 1 = 10210201 + 832587
0000010210200 20 2003,5,7,11,13,17000000 10000000

832587 =3 x 7 x 41 x 967 x 1
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Q=4163030000
P = 510510n + 416303

2P + 1 = 2(510510n + 416303) 4+ 1 = 10210201 4 832606 + 1 = 10210201 + 832607
0000010210200 20 2003,5,7,11,13,17000000 1000000
832607 = 832607 x 1
0000 10210200000000000000
2P + 1 = 510510m + 322097
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Q=4163090000
P = 510510n + 416309

2P 4+ 1 =2(510510n + 416309) + 1 = 10210201 + 832618 + 1 = 10210201 + 832619
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P = 510510n + 416321

2P + 1 = 2(510510n + 416321) 4+ 1 = 10210201 + 832642 + 1 = 10210201 + 832643
0000010210200 20 2003,5,7,11,13,17000000 10000000

832643 =7 x 17 x 6997 x 1
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2P + 1 = 119(8580n + 6997)
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Q=4163230000
P = 5105100 + 416323

2P + 1 = 2(510510n + 416323) 4+ 1 = 10210201 + 832646 + 1 = 10210200 + 832647
0000010210200 20 2003,5,7,11,13,17000000 10000000

832647 = 3 x 277549 x 1
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Q=4163270000
P = 510510n + 416327

2P + 1 =2(510510n + 416327) + 1 = 1021020n + 832654 + 1 = 10210201 + 832655
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832655 =5 x 241 x 691 x 1
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2P + 1 = 5(204204n + 166531)

118



gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=4163290000
P =510510n + 416329

2P + 1 =2(510510n + 416329) + 1 = 10210201 + 832658 + 1 = 10210201 + 832659
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Q=4163330000
P = 510510n + 416333

2P + 1 =2(510510n + 416333) + 1 = 1021020n + 832666 + 1 = 10210201 + 832667

0000010210200 20 2003,5,7,11,13,17000000 10000000

832667 = 11 x 59 x 1283 x 1

oooo
2P + 1 = 11(92820n + 75697)
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Q=4163410000
P = 510510n + 416341

2P + 1 = 2(510510n + 416341) 4+ 1 = 10210201 + 832682 + 1 = 10210201 + 832633
0000010210200 20 2003,5,7,11,13,17000000 10000000

832683 = 3 x 53 x 5237 x 1
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Q=4163590000
P = 510510n + 416359

2P + 1 = 2(510510n + 416359) + 1 = 10210201 + 832718 + 1 = 10210201 + 832719
0000010210200 20 2003,5,7,11,13,17000000 10000000

832719 = 3 x 197 x 1409 x 1
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Q=4163630000
P = 510510n + 416363

2P + 1 = 2(510510n + 416363) 4+ 1 = 10210201 4 832726 + 1 = 10210200 + 832727
0000010210200 20 2003,5,7,11,13,17000000 10000000

832727 =T x 337 x 353 x 1

oooo
2P + 1 = 7(145860n + 118961)
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Q=4163690000
P = 510510n + 416369

2P 4+ 1 =2(510510n + 416369) + 1 = 1021020n + 832738 + 1 = 1021020n + 832739
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gbobooobogobooboboobboobboooboooboon

Q=4163710000
P = 5105100 + 416371

2P + 1 = 2(510510n + 416371) 4+ 1 = 10210201 + 832742 + 1 = 10210201 + 832743
0000010210200 20 2003,5,7,11,13,17000000 10000000

832743 =3 x 3 x 67 x 1381 x 1
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Q=4163870000
P = 510510n + 416387

2P + 1 = 2(510510n + 416387) + 1 = 10210201 + 832774 + 1 = 10210201 + 832775
0000010210200 20 2003,5,7,11,13,17000000 10000000

832775 =5 x5 x 33311 x 1
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P = 510510n + 416389

2P + 1 =2(510510n + 416389) + 1 = 1021020n + 832778 + 1 = 1021020n + 832779
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oooo
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Q=4163930000
P = 510510n + 416393

2P + 1 = 2(510510n + 416393) 4+ 1 = 10210201 + 832786 + 1 = 10210201 + 832787
0000010210200 20 2003,5,7,11,13,17000000 1000000
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Q=4163990000
P = 5105100 + 416399

2P + 1 =2(510510n + 416399) + 1 = 1021020n + 832798 + 1 = 1021020n + 832799

0000010210200 20 2003,5,7,11,13,17000000 10000000

832799 =11 x 75709 x 1

oooo
2P + 1 = 11(92820n + 75709)
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Q=4164010000
P = 510510n + 416401

2P + 1 =2(510510n + 416401) + 1 = 1021020n + 832802 + 1 = 10210201 + 832803

0000010210200 20 2003,5,7,11,13,17000000 10000000

832803 = 3 x 277601 x 1

oooo
2P + 1 = 3(340340n + 277601)
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@ =4164070000
P = 510510n + 416407

2P 4+ 1 =2(510510n + 416407) + 1 = 1021020n + 832814 + 1 = 1021020n + 832815
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Q=4164110000
P = 5105100 + 416411

2P +1 = 2(510510n + 416411) 4+ 1 = 10210201 + 832822 + 1 = 10210201 + 832823
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Q=4164130000
P = 5105100 + 416413

2P +1 = 2(510510n + 416413) 4+ 1 = 10210201 + 832826 + 1 = 10210200 + 832827
0000010210200 20 2003,5,7,11,13,17000000 10000000

832827 =3 x 19 x 19 x 769 x 1

oooo
2P + 1 = 3(340340n + 277609)
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Q=4164170000
P = 510510n + 416417

2P + 1 =2(510510n + 416417) + 1 = 1021020n + 832834 + 1 = 10210201 + 832835

0000010210200 20 2003,5,7,11,13,17000000 10000000

832835 =5 x 166567 x 1

oooo
2P + 1 = 5(204204n + 166567)
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Q=4164190000
P =510510n + 416419

2P + 1 = 2(510510n + 416419) 4 1 = 10210201 + 832838 + 1 = 10210201 + 832839
0000010210200 20 2003,5,7,11,13,17000000 10000000

832839 = 3 x 7 x 39659 x 1
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Q=4164310000
P = 510510n + 416431

2P 4+ 1 = 2(510510n + 416431) 4+ 1 = 10210200 + 832862 + 1 = 1021020n + 832863
0000010210200 20 2003,5,7,11,13,17000000 10000000

832863 = 3 x 227 x 1223 x 1
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2P + 1 = 3(340340n + 277621)
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Q=4164410000
P =510510n + 416441

2P + 1 = 2(510510n + 416441) 4+ 1 = 10210201 + 832882 + 1 = 10210201 + 832883
0000010210200 20 2003,5,7,11,13,17000000 1000000
832883 = 832883 x 1
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2P + 1 = 510510m + 322373
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Q=4164430000
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2P 4+ 1 =2(510510n + 416443) + 1 = 10210201 + 832886 + 1 = 1021020n + 832887
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Q=4164470000
P = 5105100 + 416447

2P 4+ 1 = 2(510510n + 416447) + 1 = 10210200 + 832894 + 1 = 10210201 + 832895
0000010210200 20 2003,5,7,11,13,17000000 10000000

832895 =5 x 7 x 53 x 449 x 1
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Q=4164530000
P = 5105100 + 416453

2P + 1 = 2(510510n + 416453) 4+ 1 = 10210201 4 832906 + 1 = 10210201 + 832907
0000010210200 20 2003,5,7,11,13,17000000 1000000
832907 = 37 x 22511 x 1
0000 10210200000000000000
2P + 1 = 510510m + 322397
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Q=4164590000
P =510510n + 416459

2P 4+ 1 =2(510510n + 416459) + 1 = 1021020n + 832918 + 1 = 1021020n + 832919
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832919 = 832919 x 1
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Q=4164610000
P = 510510n + 416461

2P 4+ 1 =2(510510n + 416461) + 1 = 10210201 + 832922 + 1 = 10210201 + 832923
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Q=4164670000
P = 5105100 + 416467

2P + 1 =2(510510n + 416467) + 1 = 1021020n + 832934 + 1 = 10210201 + 832935

0000010210200 20 2003,5,7,11,13,17000000 10000000

832935 = 3 x 5 x 55529 x 1

oooo
2P + 1 = 15(68068n + 55529)
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Q=4164730000
P =510510n + 416473

2P + 1 =2(510510n + 416473) + 1 = 10210201 + 832946 + 1 = 1021020n + 832947

0000010210200 20 2003,5,7,11,13,17000000 10000000

832947 = 3 x 101 x 2749 x 1
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2P + 1 = 3(340340n + 277649)
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Q=4164770000
P = 5105100 + 416477

2P 4+ 1 =2(510510n + 416477) + 1 = 1021020n + 832954 + 1 = 10210201 + 832955
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P = 510510n + 416489

2P + 1 = 2(510510n + 416489) + 1 = 10210201 + 832978 + 1 = 10210201 + 832979
0000010210200 20 2003,5,7,11,13,17000000 10000000

832979 =7 x 19 x 6263 x 1

oooo
2P + 1 = 7(145860n + 118997)
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Q=4164910000
P =510510n + 416491

2P + 1 =2(510510n + 416491) + 1 = 10210201 + 832982 + 1 = 10210201 + 832983
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

832983 = 3 x 17 x 16333 x 1

oooo
2P + 1 =51(20020n + 16333)
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2P 4+ 1 =2(510510n + 416497) + 1 = 10210201 + 832994 + 1 = 10210201 + 832995
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P =510510n + 416501
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Q=4165030000
P = 510510n + 416503

2P + 1 =2(510510n + 416503) + 1 = 1021020n + 833006 + 1 = 10210207 + 833007

0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=4165090000
P = 510510n + 416509

2P 4+ 1 =2(510510n + 416509) + 1 = 10210201 + 833018 + 1 = 10210207 + 833019
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Q=4165190000
P = 5105100 + 416519
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P = 510510n + 416567

2P + 1 = 2(510510n + 416567) 4+ 1 = 10210201 + 833134 + 1 = 10210201 + 833135
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 510510n + 416707

2P 4+ 1 =2(510510n + 416707) + 1 = 1021020n + 833414 + 1 = 1021020n + 833415
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138



0000010210200 20 2003,5,7,11,13,17000000 1000000

833423 = 107 x 7789 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 322913

goboobooobooboboobboobbooboooboon

Q=4167190000
P =510510n + 416719

2P + 1 = 2(510510n + 416719) 4+ 1 = 10210201 + 833438 + 1 = 10210201 + 833439
0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 510510n + 416737

2P 4+ 1 =2(510510n + 416737) + 1 = 1021020n + 833474 + 1 = 1021020n + 833475
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P = 510510n + 416743
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2P + 1 = 2(510510n + 416777) + 1 = 10210201 4 833554 + 1 = 10210201 + 833555
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oooo
2P + 1 = 5(204204n + 166891)

goooooo0ds0U0b0O0bOO0ODbOOU0DOO0ODOU0ODOUODOUODOUODOODOUODOO
ooo

Q=4172290000
P =510510n + 417229

2P 4+ 1 =2(510510n + 417229) + 1 = 1021020n + 834458 + 1 = 1021020n + 834459

0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P +1 = 2(510510n + 417311) 4+ 1 = 10210201 + 834622 + 1 = 10210201 + 834623
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2P 4+ 1 = 2(510510n + 418673) + 1 = 10210200 + 837346 + 1 = 10210200 + 837347
0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=418679 0000
P = 5105100 + 418679

2P + 1 = 2(510510n + 418679) 4+ 1 = 10210201 + 837358 + 1 = 10210201 + 837359
0000010210200 20 2003,5,7,11,13,17000000 1000000
837359 = 837359 x 1
0000 10210200000000000000
2P + 1 = 510510m + 326849
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Q=418681 0000
P = 510510n + 418681

2P 4+ 1 =2(510510n + 418681) + 1 = 1021020n + 837362 + 1 = 10210201 + 837363
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P = 510510n + 418687

2P + 1 =2(510510n + 418687) + 1 = 1021020n + 837374 + 1 = 1021020n + 837375
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P = 510510n + 418697

2P 4+ 1 =2(510510n + 418697) + 1 = 10210201 + 837394 + 1 = 1021020n + 837395
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P = 510510n + 418699

2P + 1 =2(510510n + 418699) + 1 = 1021020n + 837398 + 1 = 1021020n + 837399
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P = 510510n + 418709

2P + 1 = 2(510510n + 418709) 4 1 = 10210201 + 837418 + 1 = 10210201 + 837419
0000010210200 20 2003,5,7,11,13,17000000 10000000

837419 =11 x 76129 x 1
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Q=4187110000
P = 510510n + 418711

2P + 1 = 2(510510n + 418711) 4+ 1 = 10210201 + 837422 + 1 = 10210201 + 837423
0000010210200 20 2003,5,7,11,13,17000000 10000000

837423 = 3 x 3 x 93047 x 1
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2P + 1 = 3(340340n + 279141)
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Q=4187210000
P =510510n + 418721

2P + 1 =2(510510n + 418721) + 1 = 1021020n + 837442 + 1 = 1021020n + 837443
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Q=4187230000
P = 5105100 + 418723

2P + 1 = 2(510510n + 418723) 4+ 1 = 10210201 + 837446 + 1 = 10210200 + 837447
0000010210200 20 2003,5,7,11,13,17000000 10000000

837447 = 3 x 13 x 109 x 197 x 1
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goooooboOo3ooooooobobooooobooooDoobooDOobDOobooboOoboo
good

Q=4187290000
P = 510510n + 418729

2P + 1 = 2(510510n + 418729) 4+ 1 = 10210201 + 837458 + 1 = 10210201 + 837459
0000010210200 20 2003,5,7,11,13,17000000 10000000

837459 =3 x3x3x3IXTxT7Tx211x1
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Q=4187390000
P = 510510n + 418739

2P 4+ 1 = 2(510510n + 418739) + 1 = 10210201 + 837478 + 1 = 1021020n + 837479
0000010210200 20 2003,5,7,11,13,17000000 1000000
837479 = 79 x 10601 x 1
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2P + 1 = 510510m + 326969

goooooboobooboooobooboobooobobOooboboOoOoobooooDon
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P = 510510n + 418741
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Q=4187510000
P = 510510n + 418751

2P + 1 = 2(510510n + 418751) 4+ 1 = 10210201 + 837502 + 1 = 10210201 + 837503
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837503 = 837503 x 1
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Q=4187530000
P = 5105100 + 418753

2P + 1 = 2(510510n + 418753) 4+ 1 = 10210201 4 837506 + 1 = 10210201 + 837507
0000010210200 20 2003,5,7,11,13,17000000 10000000

837507 =3 x 11 x41 x 619 x 1
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2P + 1 = 33(30940n + 25379)
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Q=4187570000
P = 510510n + 418757

2P + 1 =2(510510n + 418757) + 1 = 1021020n + 837514 + 1 = 1021020n + 837515

0000010210200 20 2003,5,7,11,13,17000000 10000000

837515 =5 x 7 x 23929 x 1
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Q=4187630000
P = 510510n + 418763

2P + 1 = 2(510510n + 418763) + 1 = 10210201 + 837526 + 1 = 10210201 + 837527
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837527 = 31 x 27017 x 1
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P = 510510n + 418771

2P + 1 =2(510510n + 418771) + 1 = 1021020n + 837542 + 1 = 1021020n + 837543
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2P 4+ 1 =2(510510n + 418777) + 1 = 1021020n + 837554 + 1 = 10210201 + 837555
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Q=418787 0000
P = 510510n + 418787

2P + 1 = 2(510510n + 418787) + 1 = 10210201 + 837574 + 1 = 10210200 + 837575
0000010210200 20 2003,5,7,11,13,17000000 10000000

837575 =5 x5 x 33503 x 1
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2P + 1 = 5(204204n + 167515)
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Q=4187930000
P = 510510n + 418793

2P + 1 = 2(510510n + 418793) + 1 = 10210201 + 837586 + 1 = 10210201 + 837587
0000010210200 20 2003,5,7,11,13,17000000 1000000

837H87 =47 x 71 x 251 x 1
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2P + 1 = 510510m + 327077

gooboobooobooboboobboobboobuooobooo

Q=4187990000
P = 510510n + 418799

2P + 1 =2(510510n + 418799) + 1 = 10210201 + 837598 + 1 = 10210201 + 837599

0000010210200 20 2003,5,7,11,13,17000000 10000000

837599 =7 x 119657 x 1
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2P + 1 = 7(145860n + 119657)
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P =510510n + 418801

2P + 1 = 2(510510n + 418801) 4 1 = 10210201 + 837602 + 1 = 10210201 + 837603
0000010210200 20 2003,5,7,11,13,17000000 10000000

837603 =3 x 3 x 13 x 7159 x 1
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Q=418807 0000
P = 510510n + 418807

2P 4+ 1 = 2(510510n + 418807) + 1 = 10210200 + 837614 + 1 = 10210201 + 837615
0000010210200 20 2003,5,7,11,13,17000000 10000000

837615 =3 x5 x 19 x 2939 x 1

oooo
2P + 1 = 15(68068n + 55841)
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good

Q=4188110000
P =510510n + 418811

2P + 1 = 2(510510n + 418811) 4 1 = 10210201 + 837622 + 1 = 10210201 + 837623
0000010210200 20 2003,5,7,11,13,17000000 1000000
837623 = 59 x 14197 x 1
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2P + 1 = 510510m + 327113
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Q=4188130000
P = 510510n + 418813

2P + 1 =2(510510n + 418813) + 1 = 10210201 + 837626 + 1 = 1021020n + 837627
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837627 =3 x 7 x 39887 x 1
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Q=4188190000
P = 5105100 + 418819

2P + 1 = 2(510510n + 418819) 4 1 = 10210201 + 837638 + 1 = 10210201 + 837639
0000010210200 20 2003,5,7,11,13,17000000 10000000

837639 =3 x 3 x 11 x 8461 x 1

oooo
2P + 1 = 33(30940n + 25383)
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Q=4188230000
P = 510510n + 418823

2P + 1 = 2(510510n + 418823) + 1 = 10210201 + 837646 + 1 = 10210201 + 837647
0000010210200 20 2003,5,7,11,13,17000000 1000000

837647 = 797 x 1051 x 1
Ooooo 10210200 000000000000
2P + 1 = 510510m + 327137
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Q=4188370000
P = 510510n + 418837

2P + 1 =2(510510n + 418837) + 1 = 1021020n + 837674 + 1 = 1021020n + 837675

0000010210200 20 2003,5,7,11,13,17000000 10000000
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oooo
2P + 1 = 255(4004n + 3285)
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Q=418841 0000
P =510510n + 418841

2P + 1 =2(510510n + 418841) + 1 = 1021020n + 837682 + 1 = 1021020n + 837683

0000010210200 20 2003,5,7,11,13,17000000 10000000

837683 =7 x 11 x11 x23 x43 x 1

good
2P + 1 ="77(13260n + 10879)
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good

Q=4188430000
P = 5105100 + 418843

2P + 1 =2(510510n + 418843) + 1 = 10210201 + 837686 + 1 = 1021020n + 837687

0000010210200 20 2003,5,7,11,13,17000000 10000000

837687 = 3 x 293 x 953 x 1

oooo
2P + 1 = 3(340340n + 279229)
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Q=4188490000
P = 510510n + 418849

2P + 1 = 2(510510n + 418849) + 1 = 10210201 + 837698 + 1 = 10210201 + 837699
0000010210200 20 2003,5,7,11,13,17000000 10000000

837699 = 3 x 103 x 2711 x 1
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2P + 1 = 3(340340n + 279233)
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Q=418861 0000
P =510510n + 418861

2P + 1 = 2(510510n + 418861) 4+ 1 = 1021020n + 837722 + 1 = 10210201 + 837723
0000010210200 20 2003,5,7,11,13,17000000 10000000

837723 =3 x 29 x 9629 x 1

oooo
2P + 1 = 3(340340n + 279241)
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Q=418867 0000
P = 510510n + 418867

2P + 1 = 2(510510n + 418867) + 1 = 10210201 + 837734 + 1 = 10210200 + 837735
0000010210200 20 2003,5,7,11,13,17000000 10000000

837735 =3 x5 x 55849 x 1

oooo
2P + 1 = 15(68068n + 55849)
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Q=418871 0000
P =510510n + 418871

2P + 1 =2(510510n + 418871) + 1 = 1021020n + 837742 + 1 = 1021020n + 837743

0000010210200 20 2003,5,7,11,13,17000000 10000000

837743 = 17 x 49279 x 1
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Q=4188770000
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2P + 1 = 2(510510n + 418877) + 1 = 1021020n + 837754 + 1 = 1021020n + 837755
0000010210200 20 2003,5,7,11,13,17000000 10000000

837755 =5 x 137 x 1223 x 1
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Q=418879 0000
P = 510510n + 418879

2P + 1 = 2(510510n + 418879) + 1 = 10210201 + 837758 + 1 = 10210201 + 837759
0000010210200 20 2003,5,7,11,13,17000000 10000000

837759 =3 x 13 x 21481 x 1

oooo
2P + 1 = 39(26180n + 21481)
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good
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P = 510510n + 418883

2P + 1 =2(510510n + 418883) + 1 = 10210201 + 837766 + 1 = 1021020n + 837767
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P = 510510n + 418907

2P + 1 =2(510510n + 418907) + 1 = 1021020n + 837814 + 1 = 1021020n + 837815
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P = 510510n + 418921

2P + 1 = 2(510510n + 418921) 4+ 1 = 10210201 + 837842 + 1 = 10210201 + 837843
0000010210200 20 2003,5,7,11,13,17000000 10000000

837843 = 3 x 19 x 14699 x 1
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2P + 1 = 3(340340n + 279281)
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P = 510510n + 418933

2P + 1 =2(510510n + 418933) + 1 = 1021020n + 837866 + 1 = 1021020n + 837867

0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 510510n + 418937
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2P + 1 =2(510510n + 418963) + 1 = 1021020n + 837926 + 1 = 1021020n + 837927
oboo00o0o10210200 20 2003,5,7,11,13,17000000 10000000

837927 =3 x 3 x 93103 x 1

good
2P + 1 = 3(340340n + 279309)

o00ob0ooO0oo03000b0ooooooboobooDo0obob0obDobDOobOoobOobDOobDOoon
goo
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oooo 10210200 000000000000

2P 4+ 1 =510510m + 328649
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Q=419581 0000
P = 510510n + 419581

2P + 1 = 2(510510n + 419581) 4+ 1 = 10210201 + 839162 + 1 = 10210201 + 839163
0000010210200 20 2003,5,7,11,13,17000000 10000000

839163 = 3 x 13 x 21517 x 1

oooo
2P +1 = 39(26180n + 21517)

goooooboOo3ooooooobobooooobooooDoobooDOobDOobooboOoboo
good

Q=419591 0000
P =510510n + 419591

2P + 1 = 2(510510n + 419591) 4 1 = 10210201 + 839182 + 1 = 10210201 + 839183
0000010210200 20 2003,5,7,11,13,17000000 1000000

839183 =199 x 4217 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 328673

gboboobogobooboboobboobboooboooboon

Q=4195930000
P = 510510n + 419593

2P + 1 =2(510510n + 419593) + 1 = 10210201 + 839186 + 1 = 1021020n + 839187

0000010210200 20 2003,5,7,11,13,17000000 10000000

839187 =3 x 3 x 3 x 31081 x 1

oooo
2P + 1 = 3(340340n + 279729)

gooooooOo3sooboooooooboU0oOoU0bOoUbDOoUobOoUobDOUDbDOoUobDboUDboOoO
oono

Q=4195970000
P = 510510n + 419597

2P + 1 =2(510510n + 419597) + 1 = 10210201 + 839194 + 1 = 10210201 + 839195
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0000010210200 20 2003,5,7,11,13,17000000 10000000

839195 =5 x 7 x 23977 x 1

ooono
2P + 1 = 35(29172n + 23977)

ooooooOoosoooooooooobooooboboooobooooobobooooboOoooDobOn
oooo

Q=4195990000
P = 510510n + 419599

2P 4+ 1 = 2(510510n + 419599) + 1 = 10210201 + 839198 + 1 = 1021020n + 839199
0000010210200 20 2003,5,7,11,13,17000000 10000000

839199 = 3 x 467 x 599 x 1

oooo
2P + 1 = 3(340340n + 279733)

goobOobooo3oboboboooooboboooOobobUobDobDobooobobobDoo
goo

Q=4196030000
P = 510510n + 419603

2P + 1 = 2(510510n + 419603) + 1 = 10210201 4 839206 + 1 = 10210201 + 839207
0000010210200 20 2003,5,7,11,13,17000000 1000000
839207 = 839207 x 1
0000 10210200000000000000
2P + 1 = 510510m + 328697

gbooboobooobooboboobboobbooboooboon

Q=4196090000
P = 510510n + 419609

2P 4+ 1 =2(510510n + 419609) + 1 = 1021020n + 839218 + 1 = 1021020n + 839219

0000010210200 20 2003,5,7,11,13,17000000 1000000

839219 = 227 x 3697 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 328709
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Q=4196210000
P = 510510n + 419621

2P + 1 = 2(510510n + 419621) 4+ 1 = 10210201 + 839242 + 1 = 10210201 + 839243
0000010210200 20 2003,5,7,11,13,17000000 1000000

839243 = 859 x 977 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 328733

gbbogbogobogbbgobbooboooobuoonobagn

Q=4196230000
P = 510510n + 419623

2P + 1 =2(510510n + 419623) + 1 = 10210201 + 839246 + 1 = 1021020n + 839247

0000010210200 20 2003,5,7,11,13,17000000 10000000

839247 = 3 x 23 x 12163 x 1

good
2P + 1 = 3(340340n + 279749)

g0oobOobooo30bobobooooobobooOoOobobobDobDOobOUoobUobOobDOoo
goo

Q=4196330000
P = 510510n + 419633

2P + 1 =2(510510n + 419633) + 1 = 1021020n + 839266 + 1 = 10210201 + 839267

0000010210200 20 2003,5,7,11,13,17000000 10000000

839267 = 11 x 13 x 5869 x 1

oooo
2P + 1 = 143(7140n + 5869)

gooodoobo0o430goofooo0oo0oopboooboUobo0bbo0o0ooooDOoUDooO
gogo

Q=419641 0000
P = 510510n + 419641

2P + 1 =2(510510n + 419641) + 1 = 10210201 + 839282 + 1 = 1021020n + 839283
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0000010210200 20 2003,5,7,11,13,17000000 10000000

839283 = 3 x 279761 x 1

good
2P + 1 = 3(340340n + 279761)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=4196470000
P = 5105100 + 419647

2P + 1 = 2(510510n + 419647) 4+ 1 = 10210201 4 839294 + 1 = 10210201 + 839295
0000010210200 20 2003,5,7,11,13,17000000 10000000

839295 =3 x3x3 x5 x6217x1

oooo
2P + 1 = 15(68068n + 55953)

goodoooOolboobooOooobOoboobooOooUooOoDOobOoOobLDOobDOoboooboooo
googo

Q=419651 0000
P =510510n + 419651

2P + 1 = 2(510510n + 419651) 4+ 1 = 10210201 + 839302 + 1 = 10210201 + 839303
0000010210200 20 2003,5,7,11,13,17000000 1000000

839303 = 839303 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 328793

goboobooobooboboobboobboobooobooo

Q=4196590000
P = 510510n + 419659

2P + 1 =2(510510n + 419659) + 1 = 10210201 + 839318 + 1 = 10210201 + 839319

0000010210200 20 2003,5,7,11,13,17000000 10000000

839319 =3 x 13 x 21521 x 1

oooo
2P + 1 = 39(26180n + 21521)
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Q=4196630000
P = 510510n + 419663

2P + 1 =2(510510n + 419663) + 1 = 10210201 + 839326 + 1 = 1021020n + 839327
oboo0o0o0ol10210200 20 2003,5,7,11,13,17000000 1000000

839327 = 839327 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 328817

oooboobooobooboboobboobboobooobooo

Q=419669 0000
P = 510510n + 419669

2P + 1 = 2(510510n + 419669) 4 1 = 10210201 + 839338 + 1 = 10210201 + 839339
0000010210200 20 2003,5,7,11,13,17000000 1000000

839339 = 23 x 36493 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 328829
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Q=4196770000
P = 5105100 + 419677

2P 4+ 1 =2(510510n + 419677) + 1 = 1021020n + 839354 + 1 = 10210201 + 839355

0000010210200 20 2003,5,7,11,13,17000000 10000000

839355 =3 x 5 x 11 x 5087 x 1

oooo
2P + 1 = 165(6188n + 5087)

oboobobgolesoboooooooboobobobooooooobOobUobUoboooOoooo
good

Q=419681 0000
P =510510n + 419681

2P 4+ 1 =2(510510n + 419681) + 1 = 10210201 + 839362 + 1 = 10210201 + 839363
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839363 =7 x 19 x 6311 x 1

oooo
2P + 1 = 7(145860n + 119909)
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Q=4196870000
P = 5105100 + 419687

2P + 1 = 2(510510n + 419687) + 1 = 10210201 + 839374 + 1 = 10210200 + 839375
0000010210200 20 2003,5,7,11,13,17000000 10000000

839375 =5 x5 x5 x5x17Tx 79 x1

oooo
2P + 1 = 85(12012n + 9875)
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good

Q=419689 0000
P = 510510n + 419689

2P + 1 = 2(510510n + 419689) + 1 = 1021020n + 839378 + 1 = 1021020n + 839379
0000010210200 20 2003,5,7,11,13,17000000 10000000

839379 =3 x 83 x 3371 x 1

oooo
2P + 1 = 3(340340n + 279793)

gooooOooOo3soooooooooboUooU0bOoUobDOoUobDOoUbbOUDbDOObDbOUDbOoO
goo

Q=4196930000
P = 510510n + 419693

2P + 1 =2(510510n + 419693) + 1 = 10210201 + 839386 + 1 = 1021020n + 839387

0000010210200 20 2003,5,7,11,13,17000000 1000000

839387 = 31 x 27077 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 328877
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Q=419701 0000
P = 510510n + 419701

2P 4+ 1 =2(510510n + 419701) + 1 = 1021020n + 839402 + 1 = 10210201 + 839403

0000010210200 20 2003,5,7,11,13,17000000 10000000

839403 =3 x 3 x3x3 x43 x 241 x 1

oooo
2P + 1 = 3(340340n + 279801)

gooooooo3soooooooooboooooOobooboobDoobbOODoOoDbboUODboO
goo

Q=4197070000
P = 510510n + 419707

2P + 1 =2(510510n + 419707) + 1 = 1021020n + 839414 + 1 = 10210201 + 839415

0000010210200 20 2003,5,7,11,13,17000000 10000000

839415 =3 x 5 x 107 x 523 x 1

oooo
2P + 1 = 15(68068n + 55961)

oooooooolibooooboooooboboooboobooboobooooobOooboo
good

Q=4197110000
P =510510n + 419711

2P 4+ 1 =2(510510n + 419711) + 1 = 1021020n + 839422 + 1 = 10210201 + 839423

0000010210200 20 2003,5,7,11,13,17000000 10000000

839423 = 13 x 13 x 4967 x 1

oooo
2P + 1 = 13(78540n + 64571)

oooooooowoooooooooobooooobooooObooooOObOOooobObOOooDObOn
oooo

Q=4197170000
P =510510n + 419717

2P 4+ 1 =2(510510n + 419717) + 1 = 1021020n + 839434 + 1 = 10210201 + 839435
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839435 =5 x 167887 x 1

oooo
2P + 1 = 5(204204n + 167887)
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goo

Q=4197190000
P = 5105100 + 419719

2P + 1 = 2(510510n + 419719) 4+ 1 = 10210201 + 839438 + 1 = 10210201 + 839439
0000010210200 20 2003,5,7,11,13,17000000 10000000

839439 =3 x 3 x 19 x 4909 x 1

oooo
2P + 1 = 3(340340n + 279813)
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Q=4197230000
P =510510n + 419723

2P + 1 = 2(510510n 4 419723) + 1 = 1021020n + 839446 + 1 = 1021020n + 839447
0000010210200 20 2003,5,7,11,13,17000000 10000000

839447 =7 x 119921 x 1

oooo
2P + 1 = 7(145860n + 119921)
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Q=4197290000
P = 510510n + 419729

2P 4+ 1 =2(510510n + 419729) + 1 = 1021020n + 839458 + 1 = 10210201 + 839459

0000010210200 20 2003,5,7,11,13,17000000 1000000

839459 = 839459 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 328949
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Q=4197370000
P = 5105100 + 419737

2P + 1 = 2(510510n + 419737) + 1 = 10210201 + 839474 + 1 = 10210200 + 839475
0000010210200 20 2003,5,7,11,13,17000000 10000000

839475 =3 x3 x5 xHxTx13x41 x1

oooO
2P + 1 = 1365(748n + 615)
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Q=4197430000
P = 510510n + 419743

2P + 1 = 2(510510n + 419743) 4+ 1 = 10210201 + 839486 + 1 = 10210201 + 839487
0000010210200 20 2003,5,7,11,13,17000000 10000000

839487 = 3 x 11 x 25439 x 1

oooo
2P + 1 = 33(30940n + 25439)

obooboooo3dboooobooooobobooobooboobooboboooobOoobOoo
good

Q=4197530000
P = 510510n + 419753

2P 4+ 1 =2(510510n + 419753) + 1 = 10210201 + 839506 + 1 = 10210201 + 839507

0000010210200 20 2003,5,7,11,13,17000000 1000000

839507 = 503 x 1669 x 1

o000 10210200 000000000000

2P +1 = 510510m + 328997
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